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@—x(x—y+2)+3y(2x+y+4):

—x% + Txy — 2x + 3y + 12y

® —(a-5b) =-a+5b
® 2x(3x - 6) = 6x% — 12x




15a* — 3ab  8ab + 4b*
3a 4b

3. a=-2 b=-30j, o] 427

@0 @ 6 ® 12 @ -6 © -12

(F4) =5a—b—(2a+b) =3a=2b=-6+6=0




4. -11<3a-5<7, -5<2b+9<-14 W, a-b 2 H=?

@® -9<a-b<3 @ -3<a-b<3

® -9<a-b<-1 Q3<a b<11
® -3<a-b<1l

B

-11<3a-5<7—-2<a<4-0Q
—5<2b+9<-1—-T<b<-5©°|=} s}H
©lA ZH7te] ol -1 & Bajw
5<-b<7©®°|tt

w2t 9+© 2 5t 3<a-b < 11 o[t}




o < HE A 5ax — 3a > Tax + ba
Hgoltt, thx F A E Y2 =912 =tet

a<0 ¢ o,

Sax — 3a > Tax + da
5ax — Tax > ba + 3a
— 2ax > 8a

x> -4

<AF>

a<0 < o,

5ax — 3a > Tax + 5a
Sax — Tax > ba + 3a
—2ax > 8a
ax < —4a

x< -4

<23]>
a<0 ¥ o,
Sax — 3a > Tax + da
Sax + Tax > Sa — 3a
12ax > 2a

2

S5ax—3a > Tax+5a = A 2|SHA 5ax—Tax > 5a+3a ©] 1L 7HS|
SIH —2ax > 8a ©|tt. FHE —2 2 Y+ ax < —4a |11, THA]
a<00°|Bg, S UrH F559] eko] thA] i ofof
Sttt webA] x > —4 ojtt. whehA] 2|2 9] Fol7t ZHEE Eolth
Q%] EOJE ax < ~da o4 PHE a <0 2 s 1] 2559
wao] uHAIA) SEtTh. 2319] Bl sax - 3a > Tax + ba
£ Agsh= B NA ko] o] SR HHow I wje}
FHANA SHOR A mf + = - 2, - £ + E H A LY




6.

a-b>0,a+b<0,a>04 ] 2 F 24

@ a>b @ lal < bl

@a2>b2 @1>1
a b

a+b<0, a>0°ﬂ/‘1b<0°]—1—|a|<|b|u
utatA] 8 A2 @woltt,

o
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O/\O
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—20a + 8
=-16
7

—20a+8 =-112

5x — 20a > 12x — 8 oA —7x > 20a — 8
—20a = -120

—20a + 8




